Exercice 1 Dplotparam({s*(t-sin(t)),3*(1 -cos(t))},t=-3*Pi..3*Pi)
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Exercice 3 |2_|pIotparam([2*cos(t)-cos(2*t),2*sin(t)-sin(2*t)],t=-2*Pi..2*Pi)
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Exercice5 3 |

plotparam({(1-tA2)/(1+t72),t*(1-tA2)/(1+t"2)},t=-5..5)
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|4_|p|otparam({1/(1 +t13),t42/(1+t"3)},t=-10..10)
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Exercice 7 |5 [polarplot(cos(t),t)
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|6_|polarplot(1 /cos(t),t)
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Exercice 10 [10]paramplot({2*cos(t),3"sin(t)},t)
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Exercice 11 [11]paramplot({4*cos(t),sin(t)}1)
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Exercice 12 [12]paramplot({2*cos(t),sin(t)}1)
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Exercice 13 [13paramplot({cos(t), 1+sin(t)},})
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